GENERAL SCIENCE — CHEMISTRY /NON METALS AND THEIR APPLICATIONS

1. What kind of a resource is water? /aoTol g YR T AT %’?
(a) Non-renewable/3R-sTdepeofir
(b) Non-cyclic /3R-Trshrr
(c) Abiotic/3Totfas
(d) Cyclic /TshIT
RRB NTPC 09.02.2021 (Shift-11) Stage Ist

e A cyclical resource is that can be formed, again and again. Similarly water is a cyclical
resource.
e The water from the sea, river, ocean etc evaporates and condenses to form cloud.

o THIT TUTYA g & T IR-IR FTAT ST FeheT & | ST TR STel Teh TshiT TATEA & |
o THg, AT, HER 31ME 1 ATl AT grend Herfelcl glent STeel Sicl & |

2. Heavy Water is so called because:

Y STl &I 9RY STl SATAIT ahgl ST g FAlTeh:

(a) Its density is three times that of normal water /SHehT Helcd HTHGT YTl T de AT g

(b) It uses Deuterium, a heavier isotope of hydrogen, rather than Protium./Jg qeTH & Tl
gISgIoTel & AR 3MSHICIY SYCRIAA T 3TN HIT &

(c) Itis used by the heavy industries such as steel, chemicals etc /SHehl 3UAET HRY 3?‘:&1?17 )
e, T 3fe ganT foham S §

(d) It is used in nuclear reactors/SHehl 39T IIHATIT Ruaed & Far srar §
RRB NTPC 03.02.2021 (Shift-1) Stage Ist

e Heavy water (D20) also called deuterium oxide it is Heavy water so called because it
uses deuterium that is heavier isotope of hydrogen, rather than protium. D20 is the
hydrogen isotope with a mass double that of ordinary hydrogen and oxygen.

o I UE (D20) T SYERIA AHIFASS 81 gl FTT §, 36 AR A Fgl ST §
Hifeh Ig NCITA & T SYCRIAA FT IUANT HIAT § S FTS3loleT I AR ASHET
g1 D20 gT8giele IMSHECIY § TSIl geddlel AT g8giol 3R Jierdistel & Srfe
gl

3. 'Heavy water' is a term related to which of the following?/'fRI STel' efai@d & 4 fhad
aftd ereg g2

(a) Hydro-electric power pIants/GIFl'-ﬁE:ﬂT—f Sl I

(b) Pharmaceutical industry /W‘IT{IDW 33?11?T

(c) Nuclear power generation pIants/CR?:ITU;F Foll 3culeed I

(d) Fertilizer industry /333 3_(.“?II>I?T
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RRB NTPC 02.02.2021 (Shift-I) Stage Ist

e Heavy water (D20), also known as Deuterium oxide, is the isotope of hydrogen which
contains two atoms of Deuterium (D) and one atom of oxygen.

o HI UEl (S1231), TS SYERIHA 3ierdTss o el STl &, §ISgloted 1 3SHIET &
S sgeRaA (1) & e WA] 3R 3= &1 Teh AT giell gl

4. Which of the following gases has the highest energy value (calorific value)? [Aafafea 7 & g
AT T FoAT AT (hellT AT TeH ATF g2

(a) Hydrogen

(b) LPG

(c) Natural gas

(d) Methane

RRB JE 23.05.2019 (Shift-1IV)

e Calorific value:- The heat produced by the combunstion of unit weight of fuel is called its
calorific value. Hydrogen gas has the highest energy value (calorific value).

o el AT:- YT % SHIS AR & Ggol T 3ol FSHAT Dl 3T holRT HleT gl ATl
g1 BTSSISTeT 3T &1 Fail AT (ShelRY F) Fa& 31 gar B

5. What is the mass number of deuterium? /S’q‘?ﬁtlﬂ $r G AT gEar fhdar %’?
(a)2
(b) 4
(c)3
(d)1

The mass of deuterium (1H2) is 2./39¢RIA (1H2) FT GeFAT 2 Bl

6. Which of the following gases is obtained when metals react with dilute acids? /SIs ‘éﬂﬂ'ﬁ{ H?:I:' 37Fdll
& ey fAfhar & § ar Arafaf@a & @ #la & 3dF grcg g &2

(a) Nitrogen /<TT8¢ITeT

(b) Hydrogen /gT83ITeT

(c) Oxygen/3iTFHISTeT

(d) Carbon dioxide/aTeld 313’31\14*{-“55

RRB JE CBT-II 28-08-2019 (morning)

e Metal react with dilute acids to form metallic salts and hydrogen gas.
e For example, Aluminium foilreacts with dilute hydrochloric acid to produce aluminium
chloride and hydrogen gas.
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o U A 3FA & Ay R & anfeas waur 3R EEge A Fer B

o AT & AU TegAMATH Wige oo g8giaalRer TS & ATY Yiafshar i
TegATATH FoiNrss 3R gT8giele 39 HT Scdree Far &l
7. gas is also produced by reaction of acids upon metals?
It oY 3T AT AR @ I 3cueaT gl 87
(a) Carbon dioxide /TS §I3'311¢HI$S
(b) Hydrogen /613_5!3?[
(c) Nitrogen /ATSEIoTel
(d) Oxygen /3{TerdISToT

RRB JE 23.05.2019 (Shift-)

8. When a piece of zinc metal is placed in hydrochloric acid, a gas is produced.?/sIs ST ingr &l Tch
Tl gISgIFalleh TS & IWT ST &, d U I 3= gl &l

(a) Nitrogen /sTT8¢Iolel

(b) Hydrogen /613_5!3?[

(c) Carbon dioxide/apTae] §I3'317¢Hl$s

(d) Oxygen /3{TeFdISTeT

RRB JE 27.05.2019 (Shift-1V)

e When a piece of zinc metal is placed in hydrochloric acid, hydrogen gas is produced.
o SiF fSieh I T Ush TohsT gISgiorailReh TS H @M ST &, Al g18gielel 39 3ctedd

g gl

9. Only those metals can displace hydrogen from water, which are ............ in the electrochemical series
of metals?

haol & YU &1 ST A gISgiolel I AU T Fehcll &, ST arcg3it 1 faegeRarafas
HEGAT H ..o &

(2
(a) Below hydrogen /E‘IB‘QGFT & A

(b) Above hydrogen /gISglaldd T IR

(c) Up or down /3G T =T

(d) Metals cannot displace hydrogen from water. /?-I'IT:I:'U" e ¥ E'I?'{;'}IGI?-T FI AT sgr X

vl &l

RRB NTPC 11.04.2016 (Shift-111) Stage Ist
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e The metals above hydrogen in the electrochemical series of metals can displace hydrogen
by reaction with acid or water.

o YT # TAd THATAh H@ell H gIIZo A FU I UIIU 3ol I Tl & &Y
GTATHIT e gTeglelT A AEaiid T dhal &

10. Which gas is produced when a metal reacts with water?

SIS I T STl o FrY HATHIAT Al & o Pl & 3T Ieueat glelr g2
(a) Oxygen /3TTarEISToT

(b) Nitrogen /ATSeIoTel

(c) Chlorine/aFelisT

(d) Hydrogen /gT83ISTel

RRB Group-D 19-09-2018 (Shift-I)

e The metal react with water to form related metal oxides or hydraoxide and hydrogen

gases.
o U URH & WY YTAfhaT ek Hefd UT TS AT gresiarss AR grsgiol I
Tl gl
11. is discovered by Henry Cavendish in 1766 and named it by Levassie. / Fr @rat %T-m'

FAf3er & 1766 7 &T A 3R sHSHT AT AT I@T AT
(a) Oxygen /3TTarEISToT

(b) Chlorine /&FaRIsT

(c) Helium /&Y forasT

(d) Hydrogen /613_5!3?[

ALP Stage -II 23.01.2019 (shift - II)

e Hydrogen was discovered by Henry Cavendish in 1766 and it was named by Antoine
Lavoisier.

o EIB3IST FI WA 1766 H gl FAf3w o Hr AT 3R sHST AT Uer dAhasfaaw o
T o |

12. The electronic configuration of hydrogen is similar to which of the following? /E'IEEPIGI?T 3l
el e e & & fras o &

(a) Alkaline soil metals /&TRIT fﬁ?:cﬂ' ?-HT:ID'UU

(b) Inert gases /37fsha A

(c) Alkaline metals /&I ‘EII@'UU
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(d) Halogens /gelTotet
RRB Group-D 01-10-2018 (Shift-1I)

e Hydrogen (1H1) has the lowest atomic number and hydrogen (1H1) is the first element of
first group in the modern periodic table.

e @ISgIS (1H1) &I GRAT0] H&dT Fad A ¢ 3R grsgiel (1H1) 3myfais 3mad qrofr
# Ugel HHE HT Ugell dcd ol

13. Hydrogenation of vegetable oil is an example of............... [asTeafd def T E‘IE_QGI?-ﬁWUT ............
T Th 3eTeR0T &

(a) Displacement reaction /faEama gfafear

(b) Mixture reaction /f&=roT gfaferar

(c) Combination reaction /H3TeteT Yfafshar

(d) Replacement reaction /9fa¥amdsT gfafshar
RRB Group-D 10-10-2018 (Shift-11)

e The addition of hydrogen, chlorine, bromine, etc. in the order of reactivity in unsaturated
hydrocarbons is called combination reaction.

o 3ITHJTA BISSIhIe H Glafshareliordr & e #H gIsglele, Fellliel, SiHle 311G &1 Frer
TATSTeT 9fAfohar shgeltar gl

14. The molecular mass of 02 is ............. ? /02 & AHUIAde gTHAT ... %’?
(a) 32
(b) 64
(c)8
(d) 16
RRB Group-D 18-09-2018 (Shift-11I)

e Molecular mass - The sum of the masses of all the constituent atoms of a substance is
called molecular mass.

. mmﬁmm-ﬁ@wﬁ%ﬁmmaﬁ?mwwm

SSTHATT Hgdlal gl

15. s is the main component of cement. /.............. dHT &1 ﬂ@' gceh %’I
(a) MgOH

(b) CaCOs

(C) SiO;

(d) MnO
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RRB Group-D 26-09-2018 (Shift-11I)

e Silica (Si02) is the main component of cement. In addition, cement mainly consists of a
mixture of calcium silicate and aluminate compounds, which are composed of calcium

oxide, aluminium oxide and iron oxide. /RAfeRT (SiO2) W T HAET Tk gl TS
31erraT, @ & 7Eg ®9 A Hiovad [@fdee 3R tof@se Afat @ &7 giar &,
ST Shfeergd HTaTSS, TogAfaad 3iearss 3R RN 3earss ¥ e gidr &

16. The oxygen molecule contains

. /3Tt 3107 F ——g §
(a) An electrodynamic bond /Teh ﬁ?@m el

(b) A single covalent bond /U Uehel HgHIAToTeh Fe]

(c) A triple covalent bond /Teh feUeT Hgddleleh T4

(d) A double covalent bond /Te EIgT TETATSTh FeIT

RRB Group-D 22-09-2018 (Shift-111)

e The oxygen (O2) molecule has a dual covalent bond.
o 3ifedlSleT (02) 31 & QleT Hgddletsh su= giam g1 0=0

17. Which of the following gases is used to prevent foods or chips from being oxidized? /&1 geraf
1 =eg &t 3 gl @ Ushad & v Se=fafaa & & e A9 &1 39aer far srar
g7
(a) Hydrogen/gTSaroleT
(b) Oxygen /3iTerETsTeT
(c) Chlorine/aFelisT
(d) Nitrogen /ATSEIoTeT
RRB ALP & Tec. (10-08-18 Shift-I)
RRB Group-D 03-10-2018 (Shift-111)
R.R.B. JE. Stage - II 01-09-2019 (Shift - 11])

e Nitrogen gas is used to protect food or ships packets from being oxidized as nitrogen gas
is a less reactive element.

o FATSEISIT IH 1 IUANT ATl AT STETol & Uhel & i Bl § Fad & fow
forar Srar § Fife Asgie N v wa gfafkanier dca g



GENERAL SCIENCE — CHEMISTRY /NON METALS AND THEIR APPLICATIONS

18. Name the reddish brown gas emitted when vigorously heating lead nitrate. IGES o‘-||$§€ Fr AR &
IMH A W [Aehelsl arell offel X ToT T A & ATH T30
(a) Nitric oxide /a-llslréch 31\i<=H-II$S

(b) Nitrogen dioxide /ATScrolel SIS3iFATSS

(c) Dye nitrogen oxide /318 ATSEIST 3TFHTSS

(d) Nitrogen pantoxide /aTSelolel Yeladss
RRB ALP & Tec. (14-08-18 Shift-1)

2Pb(NO3)2 — 2PbO + 4NO2 + 02

e The chemical formula of lead nitrate is Pb (NO3) 2. It is an inorganic compound, usually
in the form of a colourless crystal or white powder.

e oIS AS¢T H THAS I Pb (NO3) 28| Ig Ueh 3fehlioleh AT g, S HHAN W
TR foheeel a1 At 913X & §9 H gidT gl

19. During thermal decomposition, Ammonium nitrate produces: /?RﬁT*I' 39Eed & Eﬁi{lﬂ, AT

AT8eT 3ol P &
(a) Nz and H,0

(b) Nzo and Hzo

(c) NH; and NO

(d) NH3 and NOz

RRB ALP & Tec. (10-08-18 Shift-III)

¢ Ammonium nitrate is an inorganic compound. Its chemical formula is NH4NO3.
e It is a white coloured crystalline solid at ordinary temperature and pressure.

o IAIR S U el AfAE g1 s TEAE g3 NHANO3 B
o AT dYATT AR ga/d@ W Ig The 9T FT fohecollT I 8IdT &l

20. Which of the following gases is popular as laughing gas? [Af@a 7 & FieT @ B'FI'I?I'
arell 3 & T H AR OT g2

(a) Nitric oxide /a-llslréch 31\i<=H-II$S

(b) Nitrogen dioxide /TSIl 313’31\10}'{-“55
(c) Nitrous oxide /ATSeH 3{TFTSS

(d) Nitrogen peroxide /s8¢l WRIFHISS
RRB NTPC 03.04.2016 (Shift-1) Stage Ist
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e Nitrous oxide is called laughing gas. It is a chemical inorganic compound, whose
chemical formulais N20O. The gas was discovered in 1782 by the English scientist Joseph
Priestley

o ATScH 3iFHISS &I g4l dTell 3T Fgl AT §1 I§ Ueh TS i Jife g,
fSwer qarf@s g7 N20 81 36 39 i @it 1782 7 3@ defas shaw deee o
&$r o

21. Which of the following oxides of nitrogen is known as laughing gas?

fFAfaf@d & & Ascio & fhg 3FASs I g0 alell 3IH & 9 H ST AT 87
(a) NO

(b) N2Os

(C) NO;

(d) N2O

RRB ALP & Tec. (20-08-18 Shift-I)
RRB NTPC 05.02.2021 (Shift-1) Stage Ist

e NO - Nitric Oxide (Nitrogen mono oxide)
e N2OS5 - Nitrogen Pentoxide

e NO?2 - Nitrogen Dioxide

e N2O - Nitrous Oxide (Laughing Gas)

22. Which of the following options is called Laughing gas? [Afaf@d & & g fAdea &1 gﬂld

grell I gl ST 82

(a) Nzo

(b) CO,

(C) H,0

(d) SO,

RRB NTPC 16.04.2016 (Shift-I) Stage Ist

23. Which of the following gases has a pungent odor? [Afef@a & & g AT F I e ?I?ﬁ'
g7

(a) Ammonia/3T@feraT

(b) Carbon monoxide /&I ﬂ’lﬂ’fﬁm

(c) Oxygen /3iTFdTsTeT

(d) Hydrogen /E'IE‘;"IGIT-T

RRB NTPC Stage Ist 29.04.2016 (Shift-I)

e Ammonia (NH3) gas was discovered by Priestley in 1771. It is the most prominent
inorganic compound of nitrogen.
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o 3MAMEAT (NH3) 3 &1 @iet 1771 & el & &7 | Ig wArselo 1 qa8 54
et A gl

24. Which of the following is used by dentists as a substitute for anaesthetic?/faeTa@d H§ &
fraer 39T & Rfehcael gaRT HAGERY & fdheT & &0 & fHar Srar g2

(a) Oxygen /3TTarEISToT

(b) Nitrogen /ATSeIoTel

(c) Nitrous oxide/ sITS¢H 3TFHTSS

(d) Chlorine /&Fal{isT
RRB NTPC 07.04.2016 (Shift-111) Stage Ist

¢ Nitrous oxide (N20) is used by dentists as a substitute for anaesthetic. Nitrous oxide is
also called 'laughing gas'.

o ATSCH JTFATSS (TA23M) & 3YANT &d TAfdhcaesl gart taedfesd & RAeeT & ®7 &
T ST &1 ASeH 3FAISS T '§HST dTell I 8T FET JATAT B

25. NO2 fumesis......... in colour. ./NO2 ?:13'3-1T %’ ......... TN H|
(a) Brown /3711

(b) Yellow /dTeT

(c)Light yellow.geehl el

(d) Red /elTel

RRB Group-D 22-10-2018 (Shift-1I)

e Nitrogen dioxide (NO2) is an inorganic compound. The fumes of NO2 are brown in

colour./ATSEIsTel STE3TFAISs (NO2) Teh 3fehlelfeieh Tifdteh &1 NO2 & 31T 8X TaT
gl Bl

26. Non-metals are widely used in .............. /31"2]'I§3ﬁ FT SI9eh 9 F 39197 fhar Srar %’?
(a) Water boiler /9Tt SR

(b) Fertilizer /33

(c) Aeroplanes /%T:I'Ié' Stglal

(d) Construction of machinery /H2NTT AT G
RRB Group-D 27-11-2018 (Shift-111)
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e Non-metals like nitrogen and phosphorus are used as fertilizer for better plant growth.
Chlorine (CI12) non-metal is used in the water purification process. /sTTggIstel 3K

BREGIE ST IR-GT3iT 13U el i 95X defer & fov 380 & &7 & fomar
STl 81 STol eferehtor Sfshar H Fellliet (C12) IR-Eq &1 39D f&har ST &

/STl & Seal & 3mH ak

27. Electric bulbs typically contain chemically inert gases such as

R TEAfas & 8 AT I g § s ——
(a) Nitrogen /sTT8¢Iolel

(b) Chlorine /&FdRIsT

(c) Oxygen /3{TeFdTaTeT

(d) Hydrogen /E'IE‘;"IGIT-T

RRB Group-D 18-09-2018 (Shift-I)

Nitrogen is usually filled into electric bulbs as an inert gas. Nitrogen gas was discovered by

Rutherford in 1772. /A8l ATHACGR W fSoTell & deal A 31hT 3T & T H I AT o
ATSeretel I Hr WiaT 1772 F TEIHIs o dr AN

28. Phosphorus is kept in water so that ............. /CFT?CB‘IW P 9T H éﬂﬁ'ﬁ' 1T STdr % GIED

(a) Avoid spoilage. /&S 87 & &I
(b) Avoid catching fire. /31T ofdTeT & S|
(c) Ensure durability. /EaTRIcT 'ﬂﬁﬁﬂﬁ' Ty

(d) Stay out of reach of children. /a=al T qg?l o I &
RRB NTPC Stage Ist 22.04.2016 (Shift-I)

e Phosphorus is kept in water to avoid catching fire. It has a odor like garlic. It is a toxic
substance. It is insoluble in water but soluble in carbon disulphide(CS2). It automatically

burns in air. So, it is kept immersed in water. /37RT @l & §dT1 & foIT BREGRA Fi
Ul & @7 ST §1 S g Sl AT gich . Fg Th faderm gerd . Ig uel #
AN § ofehet F1eleT STSHCHISS (CS2) H GololdNeT &1 Ig Faaifad &9 & gar &
STeTcl €1 SAT 58 9l # STt @M SileT &.

29. Matchsticks are made up of .......... 2/FTRG & Dfe=T ......... ¥ T giar &l
(a) Sulphur
(b) Phosphorus



GENERAL SCIENCE — CHEMISTRY /NON METALS AND THEIR APPLICATIONS

(c) magnesium
(d) potassium

RRB NTPC 30.03.2016 (Shift-I) Stage Ist

e Red phosphorus is used in matchsticks. Phosphorus disulphide is used along with
phosphorus to make matches. Pine wood is used for matchsticks in which potassium
chlorate, red lead, antimony sulphite and gum are used.

o TITel BB FHI 39IRT AT Hr diferdr A forar Srar g1 Afad a0 & fow
HIEHRE SEHCHISS HI 3TN BREGRT & Iy fhar Srar g1 A & difedt &
fow dg fr aehst @1 39T fRar Srar § EH defRIaA Fere, drer dr, TEHeT
Towrse 3R e FT 39T Rar ST §

30. Atomicity of phosphorus is - /BREBRE T TLATILCT & -

(a)3
(b) 4
(©)5
(d)7
RRB Group-D 09-10-2018 (Shift-1I)
Phosphorus has atomicity 4 (tetra-atomic) and its atomic number is 15. /BIEHRE I GIATVIAT 4

(ReT-uA) § 3R sHRT A Heawr 158

31. White phosphorus is stored in
(a) Oxygen/3TTargeTaT
(b) Hydrogen /E‘IB‘QGF{
(c) Water /91T
(d) Alcohol /TS
RRB Group-D 28-09-2018 (Shift-11I)

e White phosphorus is a soft rusty material like wax. It turns yellow when kept in the light.
It is a toxic substance, insoluble in water but soluble in carbon disulfide (CS2). It
automatically burns in the air, so it is immersed in water.

o ¥ HEHRA HA ST XA T ol qard g A F 3@ W I Grell g S gl
g Ueh Ta¥er uery g, 9l # eelereiiel dftheT #idel seHewss (CS2) & gorerelier
€l IE T 8 g1 H ST e § SHIAT S Uil H ST el g
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32. What is the chemical formula of phosphoric acid? /BIERIRS TRAT &1 I@ITASH qF =1 &?
(a) HPO4
(b) HsPO,
(C) H3PO3
(d) HoPO4
RRB Group-D 01-12-2018 (Shift-1I)

Phosphoric acid is a mineral inorganic acid whose chemical formula is H3PO4.
e By using it, rusted objects are cleaned.
Dentists use it to clean teeth.

o BIEHINE TS U Wil epefae tfls & o Taafas ¥ H3PO4 &
S G F ST I IEGE A @ S
&d Rfcas sHFH 3TN gId ATH e & AT ad gl

33. If any of the following non-metals are placed in the air, then it ignites?/zlﬁ( efaf@ad & 9
fordlr 8t 3remqg Y gaT & TWN AT A 9§ Tsdfad gl Sl 82
(a) Sulphur /eI
(b) Uranium/?ilt:l'ﬁm
(c) nitrogen /ATSEIoTl
(d) phosphorus /BIRERRY
RRB Group-D 27-11-2018 (Shift-I)

e Phosphorus is a non-metal. Whe it placed the air then its ignits. Phosphorus is a chemical
element whose chemical symbol is 'P' and atomic number 15.

e Being highly reactive, phosphorus is not found in free state.

e It catches fire due to exposure to air, so it is kept immersed in water.

o WIEHRE Uk U &1 SI9 SHA gaT STell Sl & of T§ STel 36 ¢ PIEHRE Teh
TR dcd § e Taafae gdiie P 3R RAv] wAE 15 g

o Al gfafshamiier gl & HROT BREGRE HeFd HaTAT H g 94T ST &

o BAl & HUS H I ¥ SHH 0T 9T Sl g, THIAT & Uil H galehd @1 STl &

34. What is the meaning of the chemical symbol 'P'? /GRS Ydleh 'P' &l FAT 3T B
(a) Phosphorus/®IERRY
(b) Potassium /9T TRII#
(c) Fludium /W‘;%?Jﬂ'
(d) Polyamonium /9fforare e
RRB JE 27.05.2019 (Shift-111)
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35. Which of the following element is a greenish yellow gas with a characteristic odor at room
temperature?

Aafaf@a & O Sia a1 acg I & aUHAT W T [AfAse 78 arely g8 der g &2
(a) lodine

(b) Chlorine

(c) Carbon monoxide

(d) Hydrogen sulphide

RRB NTPC 22.01.2021 (Shift-I) Stage Ist
RRB NTPC 09.03.2021 (Shift-11) Stage Ist

e Chlorine is a greenish yellow gas with a characteristic odor at room temperature.
e It’s a chemical element whose atomic number is 17 and has chemical symbol "CI".
e [tis present in simple salt Nacl (Sodium Chloride).

o FAIT T g Yok T i 39 § STH Y & d9AT W T fafdse arer gt &
e IE UH YA ded & TSIl TA] HaAMR 178 3R s8HT @S Felleh "Cl" B
e IT HTURYT FH® Nacl (HIfsad FaRTss) # #Hisg &ar ¢l

36. Which elements have 7 valence electrons in their outermost shells? /ﬁw_rl' dcar & dieddH reT

H 7 HAISTHAT Solacisl ald 87
(a) Halogen /gdlTatel
(b) Transitive element /8&He decd
(c) Inert gases /37Thar 3T
(d) Differential transitive elements /fa¥ce FhHAS ded
RRB Group-D 16-11-2018 (Shift-1)

e Elements of group 17 or VIIA of the periodic table are fluorine F, chlorine (Cl),
bromine (Br), iodine (I), and astatine (At), the halogen element.

e 37dd ARUN & HAZ 17 AT VIIA & Tcd Felled UF, Felldlel (HITel), STl (131R),
IMEA (3M3), 3R T (Te), gailoled dcd gl

37. Which of the following is the only non-metallic substance present in liquid state at room

temperature? /[Afaf@a & O i a1 FI & d9HAT W {3581 § #L_rj\a' THATT M-
g gerd g2

(a) Fluorine /FeiRIaT

(b) lodine /38T

(c) Chlorine /&FaRIsT
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(d) Bromine/siT&eT
RRB JE 27.06.2019 (Shift-1)

RRB NTPC 06.04.2021 (Shift-11) Stage Ist

¢ Bromine the only non-metallic element that is in a liquid state at room temperature. It is a
member of the halogen elements (Group 17) of the periodic table.

o SIAT THATT A-enfcas deg § S FAY & IUATT W ol 37GEAT H giar g1 Ig 3ad
AR & gellolel deal (FHE 17) T WG &

38. Which of the following is diatomic? /ﬁmﬁf@a q O Fl Z‘(ﬁw %’?
(a) Argon/31TaTaT

(b) Helium /&Y asT

(c) Fluorine/wFli{IeT

(d) Methane /&5
RRB JE 27.05.2019 (Shift-1IV)

e In the above, Argon (Ar) and Helium (He) are mono atomic while fluorine (F2) is diatomic
and methane (CH4) is polyatomic.

o IRFd H, 3N (Ar) 3R FATA (He) v WA § Fafh FlleT (F2) gfaoars &
3R #dT (CH4) SERATF &

39. Which of these halogen is the best oxidizing agent? /é?ﬂfi' ¥ @l @r %?ﬂ?rl?-l' qaq 3ol
iR TSl §?
(@) F2
(b) CI2
(c) Br2
(d) 12
RRB SSE (21.12.2014, Set-09, Yellow paper)

e FElements of VIIA group are called halogen.
e They are called halogen due to the formation of coloured compounds. Fluorine is a very
strong oxidizer and iodine is a weak oxidizer.

o VIIA HHg & dcdl &l geilolel &gl ST gl
o T AAH & AT & HROT e Gelloled T ST &l Felklof Teh g FoTd
3P RS § 31K 3RS T FHIR iR B
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40. Which gas comes out when water is mixed with bleaching powder? /SIT=IT 9138T # 9l A=
W HiT & 3 Feperdr &2

(a) Carbon dioxide/hTaa §I??'317¢HI$S

(b) Hydrogen /613_551?{

(c) Oxygen /3iTFdTsTeT

(d) Chlorine /&FaRIsT

RRB ALP & Tec. (09-08-18 Shift-I)
RRB ALP & Tec. (30-08-18 Shift-III)

e Chlorine gas is released when water is mixed with bleaching powder.

o ST U3 H U e W Falld 3 Aeperdr &

41. Chlorine gas is used in the manufacture of which of the following: [ArTfaf@a & & fhas
0T 7 FAR I Fr 3UAeT RAr I §:
(a) Baking powder/aﬁw_ﬂ BIEERY
(b) Baking soda /afeer a@rer
(c) Bleaching powder /ellfRI3T 9138%
(d) Washing soda /&Y ST IrsT
RRB ALP & Tec. (09-08-18 Shift-11)

e Chlorine gas is used in the manufacture ofBleaching powder.

o ST U13sT & AT H FallieT 39 1 39T Far Frar gl

42. Which one of the following gases is colourless and odorless? [AAfof@a | & &l @ CIps)
W 3R g g2
(a) Nitrogen /sTT8¢Iolel
(b) Chlorine /&FeIsT
(c) Hydrogen /E'IE‘;'}IGI?T
(d) Oxygen /3{TerdISToT
RRB NTPC 29.03.2016 (Shift-111) Stage Ist

e The chlorine gas in the above gases is colourless and odorless. Chlorine is a greenish-

yellow colour and a sharp and stifling gas/30ed T & FaRleT IT TR HR TUEA
gl ¥l e gu-der T 3R O 3R gAEie A
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43. Solid iodine has a colour. /ST 3TTATSIA & T 3T BT gl
(a) White /G%e
(b) Colourless /T3TgIT
(c) Purple brown to slightly black /STt a0 H AIST el
(d) Reddish-brown /elTeT-8I1
RRB NTPC 02.04.2016 (Shift-111) Stage Ist

e The colour of solid iodine varies from purplish brown to slightly black.

o O TSI ol &7 AaTeil $X & oIehl UIST hlell oeh Bl ¢

44. Which of the following is not a metalloids? /fAeafaf@d & & &l 4T 394rd T §?
(a) Boron/@RieT
(b) Chlorine /FelIeT
(c) Arsenic /3T A
(d) Silicon /faferateT
RRB Group-D 28-11-2018 (Shift-1)

e Chlorine is not a metalloids. Metalloids is a group of elements that have both properties
of metals and non-metals. The six elements boron, silicon, germanium, arsenic,
antimony, tellurium are generally

e considered to the metalloids.

o FANS Th 3UUN] gl §| AcAlgsH deal & Uh HAg ¢ Torad urg 3R 3rurg aat
& 90T g &1 ©F ded aRie, [aferenle, Sfaras, 3mdfaes, téwmen, Togias 3mH aix

W g

45. Which of the following halogen has the highest boiling point?

@ & ¥ g Tl &1 Fauaie 3Tadd aidr &2
(a) Fluorine /YT

(b) Bromine /ST&TeT

(c) Chlorine /eFelIsT

(d) lodine/3TTATEYT

RRB Group-D 28-11-2018 (Shift-I)

e The boiling point of iodine halogen is the highest. A total of 5 elements in group 17 of
the periodic table are fluorine (F), chlorine (Cl), bromine (Br), iodine (I), astatin (At),
commonly called halogen.



GENERAL SCIENCE — CHEMISTRY /NON METALS AND THEIR APPLICATIONS

o 3RS Bellolal T FaYelich ITAAH BT & T TRON & HHE 17 H FeT Sccd ¢
Farid (F), Faia (Cl), et (Br), 3RS (1), Teefea (At), Seg 3IaR W gl
gl ST &

46. Chlorine, fluorine, and iodine are examples of known. /EI*Tvﬂﬂ?-l', FldleT 3R 38T A d 3cargur
gl
(a) Inert gas/31fhT 3T
(b) Ketone /&Il
(c) Halogen /geiTatel
(d) Alkane /3Techel
RRB Group-D 01-12-2018 (Shift-11)

e Halogen element includes fluorine, bromine, chlorine, iodine and astatine.

o Bollold dcd & TR, SH, FARIA, AR 3R vecfea anfde g1

47. Which of the following is the least reactive element?/AFIT@d F & Pl AT & H
gfafsareie dea g2
(a) Oxygen /3TTargSTeT
(b) Hydrogen /gT83ITeT
(c) Chlorine /aFelIsT
(d) Neon/fieT
RRB NTPC 10.02.2021 (Shift-1) Stage Ist

e The elements of group 18 of the periodic table are called the Noble gases and these are
the least reactive elements in the periodic table./3ad IROT & g 18 & dcal &l

3cpse A gl Srar & AR & 3ad arRol & Jod A giafshanie dca 8

48. Being light and non-inflammable, gas is used to blow balloons.

gohl 3R IR-SaertNeT g & HNROT, Tea 380 & v g 1 3T FAT ST
(a) Oxygen/m

(b) Neon /faateT

(c) Helium /&foras

(d) Chlorine/&FeRIsT

RRB NTPC 17.01.2021 (Shift-II) Stage Ist
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e Helium has a molecular weight of 4 and, hydrogen is lighter than air. While helium is not
as light as hydrogen, it is inert and non-flammable (unlike hydrogen, which is highly
flammable). For this reason, helium is used in blow balloons as they will rise in air.

o AT & 3MUIfas HR 4 § 3R, g5 gaT & gol &1 STafh GIfIgH gl
fSIaeT gt 78T &, I8 AT 3R Nsaeeha ¥ (@Eae & fulda, st scafs
SaeleNeT §)| 56 HROT W, TeaR 35 A FH HT 3TN0 har Srar g F3ifs
gar # I 35|

49. The ionization potential of noble gas is -/W g Y AT &THAT B -
(a) Maximum in a period /Teh 3Tad & 31fsad

(b) Minimum in a period /U 37 & TgldH

(c) Maximum or minimum in a period /fpEr 3afer & 3f¥eas ar eoIdH

(d) None of these /318 & &5 AT

RRB SSE 21.12.2014

The energy it takes to completely eject an electron from a separated gaseous atom of an element
is called the ionization potential of the element. /fF&T dca & FRED AT AT q TH
golerclel I QU g H SeY foishlelel 7 of9Tel aTell Jiail &l ded &1 MTAeAehoT &THAT shgl
ST Bl

50. Which of these gases is called stranger gas? /$?-FJ§T O g g Fr o6 G FEr SEr 82
(a) xenon /STTATeT
(b) neon /fATeT
(c) Krypton /fehcest
(d) Argon /3T3TeT
RRB NTPC Stage Ist 19.01.2017 (Shift-111)

e Xenon is a chemical element known as a stranger gas. Its symbol is Xe and atomic
number 54. It is used in flash lamps and arc lamps.

o S Te TEfA® deg § W 3oast 3 & ® H ST ST §1 3T Yo Xe
3R TRATT] FEAT 54 §| SHHT IUAT Tl AT 3R 30k T & fohar 1w g




